1=Marlon

Ninha Bonita

6=E| Seda
3=Tycha
9=Pad Viento 1=Marlon |
A=Hij Lana 1
7=Consangui 4=Lana 1 |
4=Lana 1 |
1=Marlon |
14=El| 817-22 6=El Seda
3=Tycha |
10=Hno Rizo 1=Marlon |
A=Hij Lana 1
7=Consangui 4=Lana 1 |
4=Lana 1 |
1=Marlon |
12=553-20 6=El Seda
3=Tycha |
10=Hno Rizo 1=Marlon |
A=Hij Lana 1
7=Consangui 4= ana 1 |
4=Lana1 |
13= La Jaca
. 1=Marlon |
Pareja n° 15 6=El Seda
3=Tycha |
11=Hija Seda
2=1.680.086 |
8=La Magica
5= 1.680.178 |
1=Marlon |
6=El Seda
3=Tycha |
9=Pad Viento 1=Marlon |
A=Hij Lana 1
7=Consangui 4=Lana 1 |
4=Lana 1 |
15=El Viento
1=Marlon |
6=El Seda
3=Tycha |
11=Hija Seda
2= 1.680.086 |
8=La Magica
5= 1.680.178 |




